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NOVA SCOTIA (66) ALMANACK.

4th—Glven (the Lat. of Helifax as above and) the interval between the
times at which, the Sun rises und is east, (==x) to find his Declination.

QUESTIONS BY H, Mcl.

¥.—A man brouglit a rectangular pi-ce of ground, the compass 10
| poles, he is to pay I dollar for each pole in length, and 8 dollars for
each rod in breadth., Required the length, and breadth, so that the
quantity of land may be had at the cheapest rate possible.
2,—How far must a ship sail on a 8. W by 8. course from a port
im Lat, 88° 156 N. until her Lat. and difference of Longitude become
eqmal,

q3.—An Orifice being made ina cask filed with claret and at the
same moment a supply of water was made to keep the vessel conntanlly!
full. This veseel contained 100 gallons, and the hole discharged one |
gallov of the mixture every 10 seconds. Suppose the liquors to be al«
ways equaly diffused throughout the vessel, how much wine remained
| in the same one hour after the hole was made.

Solution of Problems for 1838,

By J. Owens, Royal Sappers and Miners,
@

No. 1.—Let & = greatest part and — == Jeast.
10

@
Ther #t -~  10.. By Hypothesis
10

10 z t @ == 100 By Multiplicativn.
Hence 11 @ == 100 ; therefore
1

100
@ = s == ) — = greatest part
11 11
@ 1 100 100 10 Answer.

ADd — = — Of ~em = wose 2=~ the east part.
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J Solution by H. Meclver, jr.
82=9 x.07958 = .71622 = Area of Base,
71622 x 60 the length given 42.9732 or 43 == solid content of lng,

Tken say, as 24 inches the thickness of plank including the allowance for
saw, is to 43 feet the solid content of log-8o is 12 inches to 229} the No. of
feet required, Or thus,

As 2} in. : 43 s, feet :: 12.n. : 229} the No. of feet required.

PROBLEMS No. t. FOR YOUNG MECHANICS.
Soluation by Joseph Owens, Royal S8appers and Miners,

The weightapplied to the beam will be to tlie relative weight sustained |
by each supporter, in a direct proportion; As the whole length of the beai
is to the distance between the point t¢ which the weight is applied: and the |
opposite supporter—thus ;

feet feet Ton Ton Cuwt,
T G s R | 12

o) B 8 8
Again, as 20 : 1 -: 8 . 0 3
D 2P 18 B 17

Thep by connecting the two extreme resul.s together, we shall have 1 ton
12cwt plun 2 ton 17 #75¢ = 4 ton 9 cwt = weight borne by one supporter.
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plus 8 owt == (
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